Ring size Calculator

Easy ways to calculate your ring size:

Way number 1
e First you will need a ring that fits perfectly on your finger and looks like the one you
want to buy and you are about to wear on the same finger.
e Place the ring on the ruler exactly in the middle to measure its inner diameter in
millimetres. This way you can calculate your ring size according to the size guide
below.

Way number 2
e First you will need a tape measure or a thread
e Use the measuring tape or thread and wrap it around the finger until a complete
circle is formed.
e Make a mark where the end of the thread/tape measure is.
e If you have used thread, lay it flat on a surface and measure its length with the help
of a ruler. Convert the cm you see to mm. One centimetre equals ten millimetres.
So if the thread is 5.7cm long, that is equal to 57mm. Ready! You've found the inner
circle.
So, now it's easy to choose the size that suits you.

Whatever way you choose, it's a good idea to give some "free space” to the inner
circumference. For example, if you see that the circumference comes out somewhere
between 55 and 56 mm, it is better to choose 56. A tight ring will create irritation in addition
to a mark and pain.

How to Avoid mistakes:

e Don't forget that every finger is unique! So, if you wear a ring number 41 on your
left index finger, this does not automatically mean that the ring for your right index
finger must also be 41. That's why it's good to measure the finger the ring is
intended for, separately so you don't have unpleasant surprises.

e The thickness of our fingers changes more often than we think. The most common
causes of swelling are age, heat and weight gain.

e Don'tignore the joints! Some people have thicker joints than others. This is
something to consider before deciding on the right ring size for you. Also measure
the joints through which your ring will pass.

e The first time we measure we may make a mistake. For this, we repeat the
measurement 2-3 more times, just to be sure.




EUKOAOL TpOMOL yLa va UTIOAOYLGELG TO VOULEPO TOU SayTuALdlol cou:

Tpomocg vouuepo 1

Apxika Ba xpelaoteic Eéva daxtuAidL To omolo va epapudlel tEAela oto SAXTUASG cou
KOl VOl LOLATEL UE QUTO TIOU BEAELG vaL ayOPACELG KOL TIPOKELTAL VO GOPETELG OTO 1810
Saytulo.

TomoBEtnoe to SaxTUAiSL EMAVW OTOV XAPAKA AKPLBWE OTN HECN WOTE VA UETPNOELG
TNV ECWTEPLKA TOU SLAUETPO o€ XIAlooTd. Me auTOV TOV TPOTO UIMOPELC va
umtoAoyioelg To voUuepo SaxTtuAldlou cou cUUdWVA HE TOV TAPAKATW 0&nyo
peyebwv.

Tpomnog voupepo 2

Apxka Ba xpelaoteic pla pelovpa n pia KAwot.

Xpnolpomnoinoe tn pelovpa 1 TNV KAWOoTA Kal TUALEE TN yUpw oo to SAaxTtuAo oou
HEXPL VO SnoupynBel €vag mARPNG KUKAOC.

Kave éva onpadt oto onpeio omou Bploketal to TEAoG TG KAwotr g/ pelovpag.

Edv €xeLC XpnOLUOTIOOEL KAWOTH, AMAWGCE TNV (ola TAVW o€ pLa ETLGAVELA KL
HEETPNOE TO UNKOG TNG HE TN BonBela evog xapaka. MeTATpe e TA EKATOOTA TTOU Bal
6¢e1g o€ xA\lootd (mm). Eva ekatootod avtiotolyel oe S€ka XIAlooTd. Apa, av N
KAWOTN €XEL MNKOG 5,7 EKATOOTA, AUTO avTLoTolXel og 57 X\lootd. Exelg Bpet tnv
E0WTEPLKN TTEPLPEPELQAL.

Apa, A€oV eival eUKOAO va eTUAEEELC TO HEyeOOG TTOU Gou TapLalel.

‘Omolov TpOmo Kal va eTIAEEELG, KOO €lval va SWoEeLg Alyo «a€pa» OTNV ECWTEPLKN
nepldépeta. MNa mapddeypa, av deLg O0tL n epldépeta Byaivel KAMoU avapeoa ota 55 kat
56 xI\lootad, kaAutepa enihete To 56. Eva apketd odixtod daxtulidL Oa oou dnuloupynost
onuAadL KaL movo.

Nwc va aroduyelc ta Aadn:

Mnv Eexvag nwg kabe daxtulo eivat povadiko! Apa, av popdg Eva VOUUEPO
SayxtuAdlov 41 otov aplotepo Seiktn, AUTO SV ONUALVEL OUTOUATWG OTL KAL TO
SaxTUALSL yia to Skl Seiktn mpémel va gival 41. Na auto KAAS elval va HETPNOELG
Eexwplota to daxTulo yLa To omoio mpoopiletal To SaxTUALSL yla va punv €XELG
Suoapeoteg ekMANEELG.

To mdxog ota SAXTUAA pag LeTafAAETAL TTLO cUXVA aTtd 000 Vopiloupe. OL Lo
ouxVEG autieg mpnéipartoc eival n avénon tng nAtkiag, n {€otn Kat n avénon tou
Bapouc.

Mnv ayvonoelc T apBpwoelc! Oplopévol avOpwrol £XOUHE TILO XOVIPEG 0pOPWOELS
arno aA\oug. AuTo eilval KATL TTou TIPEMEL val AdBoupe umtoyLy pLv KataAnEou e oTo
voupepo daxtuAldlol mou pag tatplalel. MEtpnoe Kal TG apBpwaelg amod TIG OMOoLEC
Ba mepdoel to SaxTuAidL cou.

Tnv npwtn ¢opd mou Ba PETPHOOUUE EVOEXETOL VA KAVOULE KAmolo AaBo¢. MNa
aUTO, emavoAapBAvou e TN HETPNON 2-3 GOPEC AKOUA.



